Crel 25 Ty}

— =H O
1. = A% 4 = [z]a=699%), B =|5 & A% A = [eh=12908%).B =
{a, b,{c, @}} € W, n(A) +n(B) € st} {z|z= 209 Hi5=} o st ©& F AN B
=9

O {z|z= 49 Hi5}

@ {z|z 249] ¥}
® {z|z= 369 v}
o1 @ (|t 602 5}
. ® {zfz= 1209 v}

@® 4 @ 8 ® 27
@ 32 ® 125
6. o] &k 47 FollA Aol 7F = o] 17 1,
FAke| 74 2 shAo] 23 i, ATk FAte| & 7HHE %]
23 ol 10 3L o, AR Rade] BE S} B
3. e FREAS T 1=2H? (BF 270) & R PR

@ n({0}) =1 O 14 @ 3% ® 5%

@ {a, b} €{a, b, ¢} @ 79 ® 94

® oe{l, 2 3}

@ n({0}) <n({1})

© n({1, {2, 3}, 4, 5}) =4 7. oS dl crolo]A:MolH n(U) = 50,n(A) =
20,n(B) = 20,n (A°NB°) = 12 & o, AT 7
2o Urehe 94:9] 442 Fotelat,

4. 190,315,134 & oW AAFZ ey U A7t
247} 1,0,8 o] glth. ol® -5 BT Fofeiet




8. A={x|ae329 %5}, B={1,4,320a,b,2} | 12. T HAFA={3, 7, y}, B={5, y+2, z}° st
A A, Bl Hst] A=B A o, a+b 9 3H2? AcBelal BCc AL W, y— =9 g& Fstolet.

@ 12 @ 16 ® 20 @ 24 ® 28

9. AA™F U = {1,2,3,4,5,6} ] & FEIL A, B | 13. g 2 16028 2
B

W 2= Zb7F Zgy 1
OﬂEHO]'O%AﬂB_{5} AﬁBC_{ 3}7 U —_ 75 45 25 Oﬂ(ﬂ T= AT HMﬂq
{1,2,3,5} 4 ®l, AN B =7 A7t RS AAL7) 5ot ol £ E 5 =
7V 2e Sk Tetelet,

® {1} @ {2} ® {1,2}
@ {1,3} ® {1,4}

14. F#& zro} Hl Fhof &gko 732 T8 Yojal,
10. A ¥o] do|7} 242t 66m, 84m, 78m ¢ A7t i f o I% 1gole

e N N0, BN EON EOO0, EEOE, EOECE,
ool Bfo] ik, o] B AAAelE wet ARG
A2 GUSE Hoeln ok A gelis ek -
TIPS olof shof e ol @ A

® 6 1F @ 18 1% ® 24 1%

@ 38 1% ® 41 1% 15. 25 x 32 x 57 x 77 & AAste] AW o g e of,

upAu 34 Adste] ekt 0 9 458 7
sfedat.

11. A={1, {2, 3}} & o, o3 5 &4 &2 AL

@® {2,3}cA @ {2,3}cA
@ {1, {2,3}}cA @1cA
® {2,3}cA




